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Module-I

a. Sketch and explain the construction and wolking of cenhi'fugal clutch. (10 Marks)

b. What is the need of a oiutbh? What are the requirements of a good clutch? (10 Marks)
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Explain the cpnffi€tion and working of sffi{@late clutch. (l0Marks)
List out ttrftfillh{#h troubles and give approffite reasons. (10 Marks)
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3 a. With aTBat sketch, explain the cffi"tion ond workiqs,hfficiple of a fluid flywheel.
\ (to'a i:I';? - &"

drr d}*e*"i#' (10 Marks)
b. With a neat sketch, explaig-_the construction and$qfWng principle o$ffigle stage torque

converter. ,",."ryl*' ""." ; *-#" floMarks)1?=';;l r-1 ,.,," , s*
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4 a. Discuss with a te,W$k"t"t the construgt*gp features and wofting of over running clutoh.- 

,,- \' 
- 

**}d (ro Marks)
b. Define torquq, idnverter. Explain ffi*orking of multisiage torque converter with neat

sketch. ....' '' ,ffi * *"ff* (lo Marks)
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5 a. B,,*.dydiscuss the varioirTffistance to mot@f the automobile. (10Marks)

b..,4iescribe the variatioa of fiactive effort ffi$qtOtat resistance with the speed of the vehicle
I

,-',.,,,with the help of graph, r.: (l0Marks)
:,,, ::,:':

OR
6 a. Draw a nedt sketch and explain Tiie;'construction and working of synchromesh unit used in

gear box. " .,". ,,"' (10 Marks)

b. Sketch and explain the wof.,,kihg principle of 3 speed constant Mesh gear box. (10 Marks)
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7 a. Sketch and explajsffie working principle of overdrive and also mention its advantages.
(10 Marks)

b. With a o"ut ,ffii explain the construction and working of Wilson gear box for various
gear ratios. ,rii

li i:i:::::::i!'r
,,1,. 

''n,..

1l'' 
'rllr '''

,,,,,,, ,.,:'
"i; r:l

Module-4

I ofZ

(10 Marks)
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I a. Briefly explain the principle of simple epicyclic gear train with sketch. Show that more

numbef of gear ratio are possible from it. ,,,.-* 
*,)" **:.,, _(l0 

Marks){tulllugr ur 690I laLru 4lw Pvorrurv uvt.r r!. \-

b. The input it ut of an epicyclic bpe o[4ffix has two sun whepS"ffuh with 25 teeth

splinedto the shaft. Their correspondingffiffili have 100 teeth each.%'output shaft has a
,^ : ,t$/ | .r L1- - - ' -*- ---- t:-^ Y----r--^ L-^ on +^^+L

sun rulltrlng lfti(i ()II ulat sualt wr]u ?ryxsurr w[[e uw vvrrvDyviru

Calculate, tn" frtl second ana reffi War ratios. *k* (10 Marks)
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g a. With a neat sketch, explaigtlp ffi*i"gpri"ciple of variabfe displacement pump. (10 Marks)a. With a neat sketch, explakt4$i WorlCng pflnclple oI vaElaDle orspracemenr Pump. (ru YrarKs,

b. What are the limitatioffivantages of hydrostat!ffifts? (10 Marks)

sun ruilning free on that shaft with *Wg"ffi, while the correspondieg 6nnulus has 80 teeth
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l{t a, IMi& a aeal dia#phin the *"rki;'*@ Warner automatic transmission system.

n *. it fuffi, (10 Marks)

b. Discuss ttre*-drhdions ofthe hydraulic 
"onffil'in 

an epicyclic planetary gear system.

d|%# .d" d (10 Marks)
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